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1) (10 points) Sketch the graph of the function below. Identify all asymptotes and all intercept:
State the domain and range of this function.
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2) (6 points) Perform the operations on the rational expressions and simplify.
1 —51 14 c(x2—dx—5)= x2 +x-30 +1 30
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3) (8 points) Solve the rational equation below.
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4) (6 points) Perform the operations and simplify.
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5) (6 points) Simplify the complex fraction.
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6) (10 points) Sketch the graph of the function below. Identify all asymptotes and all intercepts.

State the domain and range of this function.
(Zx—6)xt+3x—10)

.lrf.‘.'} - o ] .
(x=2)x+x-2)

£6) = 2(x-3) (3+ ) (x-7)
DX =1 (x+2)

Hoce Ar X= 2

63 = 20-3) cr5)
(X =1)(x+ z)

60

y-intercept: <~ = /5

x-intercept: 3 - s

Vertical Asymptotes: x= | y=_4_
/

Horizontal Asymptote: V= o
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